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6. Připomínky a otázky k obhajobě:  
I have several additional comments and questions:

p.12
You state that the direct object comes before the indirect, you example, however, shows the 

opposite. Which order is more usual?

p.20
Do Biber, Conrad and Leech call every “it” in the position of the subject “dummy pronoun”?

p.21
When writing about the stylistic aspect of the passive, you mention scientific and conversational styles. Can you comment on the usage of the passive in other styles / text types?

p.27
What exactly do you mean by saying that “… in Czech the object is not classified into direct and indirect at all.” Can you support this statement by some background reading? 

p.33 
“The choice of the passive in Czech is rather dependent on the verb itself.” Can you explain it? 

In the theoretical part you do not distinguish between finite and non-finite verb forms expressing the passive voice. Why? Would you teach both? Why / why not?

Although you state that “the continuous tense is said to be rather rare in English” (p.11), you introduce this form for practising (p.38). Why? 

p.46
You prepared a test for pupils but the conclusions seem to be rather vague. What exactly do you mean by stating that “many pupils” ignore the auxiliary verb? Can you introduce the numbers from which you drew the conclusions?


Why did you use Czech when introducing the exercises? Where did you take the Czech sentences in ex.4 from? Do you find them “natural”?

p.51+54
Why do you consider it necessary to introduce all the aspects of the passive in the unit where pupils meet this grammatical category for the first time?

p.58
Do you find interpreting the only way to help pupils understand the instructions? Why?

p.61
What would be your explanation to the question “Why is it possible to use an active equivalent in Czech?”

p.62
Can you explain the instruction? What exactly did you mean by “the statement is correct in its meaning”? Is there only one that is wrong?

Are the supplementing materials on pp.63-65, 67-69, 71-72 your own?

Závěr:
Práce  je  doporučena k obhajobě.
Navržený klasifikační stupeň: ......dobře.............................      
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